Accelerated Geometry EOCT REVIEW
CIRCLES

I. ARC LENGTH AND AREA

For # 8-13, determine the length of the arc and arca of the sector with given central angle
measure, m<W. Round final answer to the nearest hundredth.
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Determine the degree measure of an arc with the given length, L,
in a circle with radius r. Round your answers to the nearest
whole degree,
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II. CENTRAL ANGLES AND CHORD LENGTHS
MQ and VR are diameters. Find the indicated roeasure,
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III. INSCRIBED ANGLES

Find the measure of the indicated arc or angle in 90,
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Use the information shown in circle O to complete problems 14 — 18,
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IV. ANGLES MEASURES WITH SECANTS AND TANGEN TS
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Find the measure of 2 1.

V.SEGMENT LENGTHS IN CIRCLES

Fill in the blanks. Then find the value of x.
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VI. VOLUME OF SPHERES

Find the volume of the sphere with radius r or diameter d.
Round your answers to the nearest hundredth,
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31. Explain what happens to the volume of a sphere when the diameter
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